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PAPER -1

Note : ¢ This paper contains Sixty (60) multiple choice questions, each question carrying
two (2) marks.

* Candidate is expected to answer any Fifty (50) questions.

* In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions

will be evaluated. {

L

[

1.  Which of the following is the highest level of cognitive ability ?
(1) Knowing (2) Understanding (3) Analysing (4)." Evaluating

L

r

2. Which of the following factors does not impact teaching ? {

(1) Teacher’s knowledge '
*

2) Class room activities that encourage le

(2)
(3)  Socio-economic background of ’ceacherﬁIlI and Studel;{ts
@ i

Learning through experience \ d/

3.  Which of the following statements ahm:t teaching aid's Aré correct ?
(a) They help in retaining concep% for longer duration.
(b)  They help students lean} liett’ér.
() They make teaching learning process interesting.
(d) They enhance rote learning.
Select the correct answer ffom the codes given below :
(1) (), (b), (¢)and (d). | (2) (a), (b) and (o
) ©) ©and @ (4) (), (b) and (d)
- \
4. | Techniques used f:y a teacher to teach include :
(a) Lecture
(b) _ Interactive lecture
(c) Group work
(d), Self study

Select the correct answer from the codes given below :

(1) @), () and () (2)  (a), (b), (c) and (d)
(3)  (b), () and (d) (4) (), (b) and (d)
oo [ HMHRCRMIRITA 2
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fdor: o @ YT § 916 (60) Tg-Tawed i U €1 YIE YA F q (2) 3 ¥
o 3eff 1 R/IF o TR (50) T % IW A T
o Ifc TeImd (50) W A el % S fGF 9 vUw v (50) YA & S WA |

1. fr=Aifed & @ 99 gresdt G S 3w TS ? y
(1) S (2) HHS (3) fower o T (4){11@@-!&31‘

2. fa=ifera § @ Si9-91 qca foetor =61 genfaa @t i ?
(1) Terers =1 M

(2)  heT i Ut wfafafEr SitEe | Aot cn% v, |
(3) Tl iR faenfofai =t TS -enfeis s{ﬁq
(4) STI9E g i@

3. foreror weme @ & 9 § Frefafaa § @ wE- @mwgﬁ%?,
(a) éwwaﬁaﬁwwwwﬁﬁmﬁ%f
(b) aWﬁﬁWW@WWW%l -
() & foreor siiw sifermm ghwat Fash st €1
(d) o TR HEA HI YiRAT Rl deEn <t

e fou el | wEl S R =T H

1) @ 0@ | @ (@) (b) ¥ (o)

(3)  (b), () R (d) 4) (), (b) 3R (d)

"o
4.  Toers gm0 sreaTaaan fQ SwIm &1 ST el deRetes | wfhe €
| (a) A=A |

(b) UREAR W TRA AT

() wrfes

(d) e

i T el | wEt ST k1 A R

(1) @), (b) 3R (o) 2) (@), (), () I (d)

(3)  (b), () R (d) 4) (), (b) IR (d)
oo || IAIARTARIA ;
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5.  Achievement tests are commonly used for the purpose of :
(1) Making selections for a specific job
(2)  Selecting candidates for a course
(3) Identifying strengths and weaknesses of learners
(4)

Assessing the amount of learning after teaching

6. A good teacher is one who : r;
(1) gives useful information f r
(2) explains concepts and principles .
(3) gives printed notes to students . : r
(4) inspires students to learn - 5 (
’ N
II|" |
7. Which of the following statements regardmg.-’the mearung of research are correct ?

(a) Research refers to a series of systematic act1v1ta or activities undertaken to find out the
solution of a problem.

(b) It is a systematic, logical and an unbiased process.whefein verification of hypothesis,
data analysis, interpretation and formation of principles can be done.

(c) It is an intellectual enqu1ryt,pr ,gluest towards truth.
(d) It leads to e1r1ha1rlceme1r1t“ofII knowledge

Select the correct answer from the codes given below :

(1) (a), (b) and (c) !{ . (2)  (b), (c) and (d)
() (a) () and (d) { 4) (@) (b), (c) and (d)
8.  A-good thesis writing should involve :
( (a) reduction o plinctuation and grammatical errors to a minimum.
(b) .careful checking of references.
(c)f consistenc? in the way the thesis is written.

(d)! a clear and well written abstract.

Select the correct answer from the codes given below :

® @ (b), (@ and () (2)  (a), (b) and (c)
(3) (a), (b) and (d) 4)  (b), (c) and (d)
oo [ HMHRCRMIRITA ‘
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5. Sudfsy qdtemn g f= # 9 forass fore ye fee s €2
(1) el fafire w0 ?g =91 &6 & fag
(2) e qreTshy 3g IR & =@ & fag

(3) HIEA el & "o 9 gad Y&l i 9gaH & o

(4) Toreror o geETq WG 1 A % o o fag

6. U Tl foerd Jg &, S :

1) SWEET YA <

2)  Hehoeurst iR fagidl #1 T w2
3) foenfeai =i gfed ew T@m 2

(
(
( s
(4) BE % Hraa % forg efifa s g 4 \

)
)
)
)
7. oHYR’ v w1 el % Hele | frefafed § 44E-4 For e &2

(a) STTEYN 1 Acad TRE THET % HHIEE 6 I _-“I%mgaaﬁnémﬁaamﬁwm

31T FAHAT i T I ¥ |

(b) % UF warem, @ik v frove wiEn € fo afmemt w1 e, siEsl w1 e,
fagial =1 sare iR A1 ) S Sehd! 2| (

(©) %W%Qﬁmﬁﬁﬂwﬁéﬂ%l
(d) w@aﬁﬁe@@ﬁ%n_”

freferied el 9 |t ST i = R
M @ I ¢ - @  (b) (0) ¥R ()
() (@ (0 3R (d) ‘ @ (@, (b), () 3R (d)

8. TF = WY Hqﬁ“oljmuri H wnfee €
@) fmm ﬁ!‘@’ﬁ%ﬂ“ﬁaﬁ'{ =IqH ST TG |
(b) T T WIS W |
(c) sﬁaw’aélmﬁﬁiaw|
d) TI= R F=3t e 9 foran gen awiw |

e feu Fi @ T IR * =IA HE
M @, ), © R 2 (@) (b) IR ()
(3) (a), (b) ¥R (d) 4)  (b), () ¥R (d)
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9.  Jean Piaget gave a theory of cognitive development of humans on the basis of his :
(1) Fundamental Research (2) Applied Research

(3) Action Research (4) Evaluation Research

9
10. “Male and female students perform equally well in a numerical aptitude test.” This statement

indicates a : - .(’/ '
r [
(1) research hypothesis (2) null hypothesis
4
(3) directional hypothesis (4) statistical hypot}-hesis - f
- \ (

/1)

11. The conclusions/findings of which type lof research"I cannot be generalized to other
situations ?

(1) Historical Research (2) Descriptive Beséarch
B (
(3)  Experimental Research < £ (4) Causal Comparative Research
; )
Y4

12.  Which of the following steps are required to design a questionnaire ?

'i

(a) Writing primary and{ secondary aims of the study.
(b) Review offthe current literature.

j |
(c) Prepare a d#aftl'of questionnaire.

(d) _ Revision of the draft.
I

Se]!ect the correct answer from the codes given below :

vy
(1) = (@), (b) and (c) (2) (@) (c) and (d)

(b), (c) and (d) 4)  (a), (b), (c) and (d)

||||HII!IHHI\||\|!H||\|H||\||H||H||\!|||!|HIII\II\IH||H\|||HH|!
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10.

11.

12.

A-00

frefafed °§ 9 fg SR WS = 3 79 fashm o1 9ameds g fean ?

(1) Wifas sTIHY™ (2) IR STTEEN

(3) Torarcas THYM (4) HHAHRA FTHAM

e AT Aferdar Tderor B qew g afeen famne tw wum yeve w17 ?ra'?mr?rvrﬁﬁrﬁ
Y fraet T Fxar § 2 £ s

[
(1) STIEY™ qihedT (2) I YRR
(3) feumewsk aftshew (4) wEEM Wq-—u' "E_
A
/

Wﬁﬁmw%ww%w@/ﬁwﬁﬁmﬁaﬁﬁﬁmﬁmm

THA 8 ? \,/

(1) e sEe e wﬁmﬂ; s
(3) IR STIEYH - d-}': (4) HRUMCHSE JATIER STTHY
ie

TH-JeEd! IR Ha 997 fF=fafead § 9 $H-9 Feq S3U STH &l a3l § 2
il -
AT & GrAtHeh 3ﬁ'{{|"gd"|qoh 39T U@ |

2 feu 2l F W IR 1w FHw
(1) ™ @), (b) 3 (c) ) (@), () 3R (d)
(3) (b), (c) 3R (d) 4) (), (b), () &R (d)
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Read the following passage carefully and answer questions 13 to 18.

Story telling is not in our genes. Neither it is an evolutionary history. It is the essence of what
makes us Human.

Human beings progress by telling stories. One event can result in a great variety of stories
being told about it. Sometimes those stories differ greatly. Which stories are picked up and repeated
and which ones are dropped and forgotten often determines how we progress. Our history,
knowledge and understanding are all the collections of the few stories that survive. Tfus 1nc1udes
the stories that we tell each other about the future. And how the future will'turn out qll’epends
partly, possibly largely, on which stories we collectively choose to believe. r

Some stories are designed to spread fear and concern. This is because some story-tellers feel
that there is a need to raise some tensions. Some stories are frightening, they are like totemic
warnings : “Fail to act now and we are all doomed.” Then there are stories that indicate that all
will be fine so long as we leave everything upto a few espec1a11y able adults, Currently, this trend
is being led by those who call themselves “rational optimists”:* They tend to claim that it is human
nature to compete and to succeed and also to profit at the expens'e of others. The rational optimists
however, do not realize how humanity has progre sed overtime through amiable social networks
and how large groups work in less selfishness and/in the p ocess accommodate rich and poor, high
and low alike. This aspect in story-telling is considered by ;-1 Practical Possibles’, who sit between
those who say all is fine and cheerful and be individualistic in yeur approach to a successful
future, and those who ordain pessimism and fear that we arerdoomed.

What the future holds for us is whiofl stories we hold on to and how we act on them.
: d
Y4
Answer the following questions:

i,

13. Our knowledge is a c‘lollect}on of :

(1)  all stories that we have heard during our life-time
"o

(2) some stories that we remember

(3) afew storie; that survive

(4) some important stories

14. Stdry telling is :

(1) " ah art (2) a science
(3) in our genes (4) the essence of what makes us human
oo [LIRHERIRIEIUEEN ;
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Frefafaa e i Fraarigdes ufeu X 13 ¥ 18 & & U¥HI & 30X QT
FHAETEA BAR S | 81 ¢ | e fTewraere sfaerd ot Ta1 €1 9% 9 ac & S 84 AMa oAl ¢ |

TG HAT 9= & 71T § WId ka1 g1 fwet foadm e 1 uRome wen & % fafay 49 & v
AT &, Foraeh IR | A hed § 1 Felt-mlt 3T FHErta § IR SR a1 &1 R e 1 ared 8 W e R
3 ST ST @ ¢ 70 fome shen ht wre fean n 7R Jen feon s € o sgan g5 fuifa @ & o e
Y wIfd 11 AR SR, I SR gHe - 3 9t 9 w1l & G § S Siifdd Wd | 39E, A el
off e § S &0 afass & IR § TH-gH I FEd | SR ferer S B e SAifTe St Here AT
9 Y I FEITE F = W R A W e afesd w9 9 faver g ) {

F FEIE a1 e 3R a1 e & fow 16 St €1 T safay % g9 w émqnﬁ'm%ia L
% o T2 70 U1 T 1 STERA § | TS SIS el el €, 3 SIH =rei Sidt gral § : 4 e1eft Fo T
T 1 &1 Tt T & S 36 9 O TH FeiAal il § S 39 91 i 3R Hohd il ¢ o T
TS TS1 A A T T F FoI T = War ] % WABS | 37 FHA T8 WG A AT g
3T 9IQTE 11 W Sl 37U 31geht * faant dil?llqlqr]”qoﬁd/%’l 3 TB&E1 H § foh faeqet 31, TRt 2T
AR TR ® HId W AT A L A WIE § | SElih ookl STRTETE 9% SV Tl Hd 9"
TR -1 % e § WA Y G % e e o € R HY TS TAS A1 T AaH el
| e e & e Wi A et oiR e we e o e FH TN T S| HA-a= &
T Uee] R ' ST FrreAl ! g e fefreft STrefl 8, S S @Al o HeA 31 71 79I § Sl 98 hed § {6
w%—m%,w@aﬁ?g@aﬂﬁmé?ﬁgmﬁwﬁwﬁwéﬁaﬁ?éﬁﬂﬁﬁwmaﬁw

T HT A m%,awm%ﬁmwwawﬁ

X
mwﬁmﬂ%%%%ﬂ%&a@%ﬁaﬁa@ﬁ%ﬁx@mmﬁaa@@ﬁmﬁ%l

ﬁwi%ﬂ"@?ruﬁaawé@q:

13. %ﬂmaﬁﬁmﬁ@mi’wwts’%?
(1) 3=\ %ﬁdeﬁ 9= g T Sfiae &Tat | g €
J(2) o T w9 5 AR w1 E
| (3) Fo FRCHIL e v
(4)

 FT TEEY eI |
|

14. m&wﬁmﬁ’@w%?

(g (2) T o
() TRAAAT (4) T A S o A A
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15.

16.

17.

18.

19.

How the future will turn out to be, depends upon the stories ?
(1) We collectively choose to believe in
) Which are repeatedly narrated
(3)  Designed to spread fear and tension
)

Designed to make prophecy

Rational optimists :

(a) Look for opportunities.
(b) Are sensible and cheerful.
(c) Are selfishly driven.

Identify the correct answer from the codes given below":

1) (a), (b) and () ) y{ only |
(3) (a) and (b) only 4) r_"r(b) and (c) Ilbnly
Humans become less selfish when : ‘j

.!"'

(1) they work in large groups % K( | to

(3) they listen to cheerful storigs {f (4) they work in solitude

Vi

‘Practical Possibles” are the ones who :

(1) follow Midwa}; Path (2) are doom-mongers

(3) are self-centred ! (4) are cheerful and carefree
‘4

_ Effectiveness of communication can be traced from which of the following ?

(a) Attitude su e§;s

(b) Performance records

(c)” Students eittendance

(d)l Selection of communication channel

Seleet the correct answer from the codes given below :

(1) @), (b), (©) and (d) (2)  (a) (b) and (c)
(3)  (b), (c) and (d) 4)  (a), (b) and (d)
oo [ HMARCRMIRITRA 1
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15. Al & SUR W gART Wiasy a1 grm ?
(1) 0 9mfed &9 9 favard o1 =997 & 2 |
(2) S IR-9R FHE A G|
(3) 4 3R T@ e % fo fosfa &1 S ¥
(4) ufoss sam & fore fawfod ot s €

16. fooet smemEmT
(a) STIERI & A% H @ T | f
(b) HATEE IR FE & ¢ |
() T ¥ ‘.,
4 o 39 T TR A L N
(1) (@), (b) 3R (o) () a‘gﬂ (a) ; ,-

f
() ¥ (@ R ©) wﬁw?ﬁw

17. 9ME %9 w@eff 2 § o9 fl
(1) IIS TR H FE FW T | 4R é@mﬁﬁﬁﬁgﬁ%n
3) aam‘aarﬁmrﬁﬁgqﬁ%;wﬂﬁ 4) 3 TFA FEFQ F
|
18. ‘framm wue’ A ¥
(1) nmﬁmwﬁ‘? g (2) foTm1 1 B @l F A B B
3) emE-HfEgem el | (4) TE 3R IIETE B

19. ﬁHTmF@dﬁé?ﬁHHWEﬁQWWWWWW%?
-%>wﬁﬁ#1
(b) = froore) e
@wwwﬁwm
(d) HEIO] HIEAH T =TI

ﬁ&q@'ﬁﬂﬁwwwaﬁm:
(1) (@), (b), (c) &R (d) 2) (@), (b) ¥R (c)
(3) (b), (0) R (d) 4)  (a), (b) R (d)
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20.

21.

22.

23.

Assertion (A) : Formal communication tends to be fast and flexible.
Reason (R) : Formal communication is a systematic and orderly flow of information.

(1) Both (A) and (R) are correct and (R) is correct explanation of (A)

(2) Both (A) and (R) are correct, but (R) is not correct explanation of (A)
(3)  (A) is correct but, (R) is false
(4) (A) is false but, (R) is correct

Ty

Which of the following are the characteristic features of communication ?
(a) Communication involves exchange of ideas, facts and opinions.

(b) Communication involves both information and understanding.

() Communication is a continuous process. iy { (
(d) Communication is a circular process. /f' # |

Select the correct answer from the codes givg‘h belolw : I,'

(1) (a), (b) and (c) @ [ (), (b)‘anﬁf (d)

(3) (), () and (d) 4) " (a), (b) ééﬁ and (d)

J
F

Fd

-

24 (

(1) Downward communicaﬁic:)t} ¢ (2) Informal communication

The term ‘grapevine’ is also known

(3) Upward communicatien (4) Horizontal communication

i,

Which of the following is not a principle of effective communication ?

(1)  Persuasive and convincing dialogue  (2) Participation of the audience

(3) . One-way gransfer of information (4) Strategic use of grapevine
o !

24.. In communicatio,é, thlre language is :

(1) The verbal 'code (2) Intrapersonal

(3) " The symbolic code (4) The non-verbal code

II'.

25. Thenext term in the series is :

2,5,9,19, 37, 2

(1 73 (2) 75 3) 78 (4) 80
oo [[IERHATNAIMECAT 2

www.examrace.com



20. 3feRem (A) SAro=nfier TEmor @fia 3R o=ier e 9mey |
T (R) ;I T SR HEE U g 3 Saied yeE Sl
(1) <F (A) 3R (R) T ¥ 2R (R), (A) FT & TT=HTT |
(2) THM (A) IR (R) T T, TG (R), (A) FT &l TR T8l 2 |
(B) (A) ¥ T, T (R) 19 1
)

(4) (A) A T, W (R) TA T

21. Tr=fafed § @ «F gem ot faean €2 f
(a) TEU ¥ faar, qeal o Hdl 1 eMeH-YeH wiHe ¥
(b) FEEU § AT AR W9 SHI A T |

(c) HEYY T Tad Hieha T - \

(d) HEE T TR e ¥ f"{ &

ﬁ%%qm@ﬁﬂﬁwwwﬁm Ir‘

1) (@), () R (o) (@), b?

(3)  (b), (c) 3R (d) @), (b 3ﬂ'{(d
22, ‘YerE’ (E@W)Wﬁmﬁﬁi@ﬁamﬁﬂﬂwwéﬁ

(1) 9 1 &R ¥=R LY . 2) STHMTEIRE GO

(3) SWH AR IR (4) aifs gum

23. ﬁmﬁrﬁ@aﬁ@aﬁ?u%ﬁgﬁwwﬁmﬁ%?
1) wwﬁaﬂxﬁw@waaﬁaﬁ (2) el H 9EieRT

(3) FET 1 CHAH SRR (4) a1 ORI ST
24, Wﬁw@?ﬁé:r

1) == %e | Q) TdatE®

(3) THETE % @) R afaE e

\
|

25. wﬁé@ﬁmmw@ﬁ?
2,5,9,19,37,?
73 75 (3) 78 4) 80
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26. In certain code MATHURA is coded as JXQEROX. The code of HOTELS will be :
(1) LEQIBP (2) ELQBIP (3) LEBIQP (4) ELIPQB

27. One day Prakash left home and walked 10 km towards south, turned right and walked
5 km, turned right and walked 10 km and turned left and walked 10 km. How many km will
he have to walk to reach his home straight ?

(1) 10 (2) 20 3) 15 (4) 30
4

{
28. A girl introduced a boy as the son of the daughter of the father of herr uncle. The poy is

related to the girl as : ;
(1) Brother (2) Uncle (3) Nephew (4) Son

J_' #

- ".

29. In an examination 10,000 students appeared. /Th‘e result revealed the number of students

who have : / ]
passed in all five subjects = 558?;"r \ .’II
passed in three subjects only = 1400 \ J
passed in two subjects only = 1200 Jj y
passed in one subject only 4 K735 { e
failed in English only <[ i%

failed in Physics only ¥ { £ 145

failed in Chemistry only = 140

failed in Mathematies only = 200

failed in Bio-science c{nly :{ = 157

The number of students passed in at least four subjects is :
(1) - 6300 ~ 4 (2) 6900 (3) 7300 (4) 7900

a

30. At present a person is 4 times older than his son and is 3 years older than his wife. After
3 years the age of the son will be 15 years. The age of the person’s wife after 5 years will
be -

1) 42

\

31. If we want to seek new knowledge of facts about the world, we must rely on reason of the
type ]
Inductive Deductive (3) Demonstrative (4) Physiological

||||HII!IHHI\||\|!H||\|H|\||H||H| HIII!IHHI\II\IHIIH\IIIHHN 1
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26. fodt #e # MATHURA &1 JXQEROX f7&fda =a1 §, HOTELS fower gr1 f&fua &ar 8 2
(1) LEQIBP (2) ELQBIP (3) LEBIQP (4) ELIPQB
27. U for WeTe1 =R @ a1 © @R <faror § 10 for H. <reran €, <€ gear @ @R 5 R AL =reran 8, g ge
® 3R 10 for. =, <roran & iR s g 10 f6. 90, =oar &1 Ee o179+ =R wg=m & fore <8 fopa fer .
ENEREUIP
1) 10 2 20 3) 15 @ 30
28. TH ASH! 1 Tk ASh 1 UR=Y e foh o8 3Heh 3Tt o T o0t o2t 1 ASHYE, ql Qigelv'\lr;l?f GEED
9 fedn gan ?
(1) Q) siFa @) witt < ‘@) w5
4
29. T wET H 10,000 formeft 43| qﬁwwaﬁﬁnﬁ‘ﬁﬁaﬁﬁﬁmﬁww%:
Tt it fowal § e g9 Sl w1 GE / = b583
< ot & s 2 el = e " 4‘ /1400
3 forol | Het B ol i G =,f/ 1200,
T fooe 3 Wl € ATl B we Y =r—735;
Waﬁﬁﬁr@ﬁwamm@ﬁqgﬁw =l 75
o Aifaw fawa § sTawa 2 FEl % g = 145
el T Toe # oTHe € Al i g = 140
Shefed T o H STEwe S el wt gl = 200
L ASICRERIE ﬁ'ﬂ'ﬂé TTHE B ATl bl TE&AT = 157
%Y | %Y =R I § 9ha F a9 faenfeE w g gl
1 6300 @ 2) 6900 (3) 7300 4) 7900
30. IdAEH T wfwfﬁﬁ%ﬁwww%aﬁ?mqﬁ@3ww%‘, 3 91 & 918 39 o9 hi
3T 15 9T B S | 39 SAfH i Uil bl 319 5 Fret o1 fehat gt 2
1) 42 | 2) 48 (3) 45 @) 50
'.
31. w&t?ﬁﬁwaﬁaﬁﬁawﬁﬁﬁ STHERII UTH e T IR 3 <t F11 § ¥ fh JahR &1 qoh-T1fea
T AUH &L ?
(1) STHATCHS 2) TS (3) YSRAACHE (4) TR o wrt
oo [1NITARAIAER AN i 2
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32. A deductive argument is invalid if :

(1) Its premises and conclusions are all false
(2) Its premises are true but its conclusion is false
(3) Its premises are false but its conclusion is true
(4) Its premises and conclusions are all true
33. Inductive reasoning is grounded on : 'F
(1) Integrity of nature (2)  Unity of nature { £
(3)  Uniformity of nature (4) Harmony of nature f f

L

34. Among the following statements two are contradictory to each 9ther* Select the correct code

that represents them : a8 (
Statements : l,/ “1

(a) All poets are philosophers. _,.*'Ilr . I-I

(b) Some poets are philosophers. / \ /

(c) Some poets are not philosophers. {é

(d) No philosopher is a poet. =
Codes : L r

(1) (a) and (b) () (ab) ?hdﬁd) (3) (@) and () (4)  (b) and (c)

35. Which of the codes given below contains only the correct statements ? Select the code :
Statements : { -
(a) Venn diagram repres{ents the arguments graphically.
(b) Venn diiagram can enhance our understanding.
(¢) Venn diagram may be called valid or invalid.

(d) Venn diagram is clear method of notation.

Codes :
(1) = (a), (b) and (c) (2) (a), (b) and (d)
(3i (b), (¢) an@l (d) 4)  (a), () and (d)
vy
36. When the purpose of a definition is to explain the use or to eliminate ambiguity the definition
is called :
Stipulative Theoretical (3) Lexical (4) Persuasive
||||HIHIHIII\II\IHHI\IHI\||H| I ||!|HIII\II\IHIHNII\IHII 1
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32.

33.

34.

35.

36.

e AT 9 ey B € At

(1) 5% SMER a1 AR frepd |eft 1o ¥
(2) TEF TR 9T ¥cd W FreRd o ¥
(3) TEE MR AT A g Frd T ¥
(4) TEF YR I AR Frewd gt we

SNTHATCHeR o TeTifehd § & fore X amenfiq & 2 y
(1) S erEved (2) W T {
(3) Uhfd H FHEYA (4) IHfd T FHH |

frforfen wemi & 9 @ wh-qm ¥ folelt 1 W e = i S 9 IR 1 At w3

et &g gl 3 j,/'ﬂ’
FD g TRifTH B | ' A
Q) %o hia eifTer T8 A | i \‘/

d) @ o gt wfa & S

(1) (a) 3R (b) @wa 3) @ 3IR() 4 (b) ¥R (o)

ﬁ'ﬁ@@ﬁ@wmﬂﬁ$ﬂ={m%7

%aﬁaaﬁﬁm@i@umﬁu‘qﬁhm%
1 NG THR THS 1 e Fohdll ¢ |
c) - O W &I A T TAY Fgl SN Hehell T |

/(d) 97 R H’e?d—ﬁns\fd T T T

) (@) () 3R () 2 (@), (b) 3R (d)
3) (b), (o) F(d) 4 (@), (©) ¥ (d)

e GRS T IRYF SUANT FI TIR KT T ST S T X HIAT Bl § A1 & qfkemn
FHEATTNT :
(1) TS 2) Heif<® (3) wmfsgeh (4) TIIHN

o [ HMARCARMIRITRA 1 riro
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Question numbers 37 to 42 are based on the tabulated data given below :

A company has 20 employees with their age (in years) and salary (in thousand rupees per month)
mentioned against each of them :

Age Salary Age Salary
S.No. | .. (in thousand rupees S.No. | .. (in thousand rupees
(in years) (in years)
per month) per month)
1. 44 35 11. 33 30 g*
2. 32 20 12. 31 35 y.
3. 54 45 13. 30 B5 Y
4, 42 35 14, 37 b 40
5. 31 20 15. 44 #5
6. 53 60 16. 36 T, 35
7. 42 50 17. B84 35
8. 51 55 184 49 50
9. 34 25 19. 43 45
10. 41 30 20. || 45 50

37. C(lassify the data of age of each employee in class mtey,\\'}{ll of 5 years. Which class interval of

5 years has the maximum average salary ? s i
(1) 35 -40 years (2) 40-45 })éars (3) 45" - 50 years (4) 50 - 55 years
B 4_'{ '
38. What is the frequency (%) in thd class interval of 30 - 35 years ?
(1) 20% 2 25% 3) 30% @) 35%

39. What is the average a‘-ge of{the employees ?

(1) 40.3 years| (2) 38.6 years (3) 47.2 years (4) 453 years
"4
40. ; What is the fraction (%) of employees getting salary = 40,000 per month ?
L (1) 45% F ") 50% 3) 35% 4)  32%

41. What is the avefiage salary (in thousand per month) in the age group 40 - 50 years ?
(11 35 (2) 425 (3) 40.5 (4) 36.5

L]
42. What is the fraction of employees getting salary less than the average salary of all the
employees ?

1) 45% 2) 50% 3) 55% 4) 47%

oo [ HMARCRMIRITRA 1
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U9 WEAT 37 W 42 ek o fed T Soeiiehd 92T WX el §1
Teh HE | 20 FHER E 1 361 39 (It §) iR 37 (ufd 9% ewR 3 o) e fomn e ®

- U e - 34 aad
Tl (witd) | (wmmET R E) || (et | (e e e )
1. 44 35 11. 33 30 -
2. 32 20 12. 31 35 ©
3. 54 45 13. 30 35 Ve o
4. 42 35 14. 37 £ 40
5. 31 20 15. 44 45
6. 53 60 16. 36 . 35
7. 42 50 17. 34 Yt~ 35
8. 51 55 18. 4 7 49 | 50
9. 34 25 19" 43 45
10. 41 30 20. 45 50
37. mmﬁﬁw%mﬁmﬁéﬁw%aﬁxmaﬁlmaﬁwﬁﬁw

3fred I yefiid § 2
(1) 35-40 79 (2) 40-45T6 (3) 45_( % ot (4) 50 - 55 %

</
38. 30- 356&‘?%6111‘31-71?@1#3@%‘ w%7

1) 20% ). 25% 3) 30% 4) 35%

39. HH=EIE @t T W i<‘=F’JT %{?
1) 403 ansf ] (2) 38.6 a4 (3) 47294 (4) 453 94

40.’%@?@@@?@?% %) Wi ATE = 40,000 S WTH HT T & 2
1) 45% . 2) 50% 3) 35% 4)  32%

41. 40-5oaﬁ%mﬁwﬁaﬁwéﬁ?(gﬁmmmﬁ)m%?
1), 35 (2) 425 (3) 40.5 (4) 36.5

42. W&%w%wwﬁaﬁﬁ%ﬁwéﬁ@waﬁ@m%?
1) 45% 2) 50% 3) 55% 4)  47%

oo || HHMARCARMIRITEAN 1 riro
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43. Encoding or scrambling data for transmission across a network is known as :
(1) Protection (2) Detection (3) Encryption (4) Decryption

44. Which of the following is not an output device ?
(1) Printer (2) Speaker (3)  Monitor (4) Keyboard

45. Which of the following represents one billion characters ? X4
(1) Kilobyte (2) Megabyte (3) Gigabyte (4) Terabjte

4
46. Which of the following is not open source software ? / J J
(1) Internet explorer (2) Fedora Linux
(3)  Open office (4) Apache HTTP server

r

47. Which one of the following represents the binary equivalent of{the . ecimal number 25 ?

(1) 10101 (2) 01101 (/3){ 11001 (4) 11011
f i

48. Which is an instant messenger that is used fr(ﬁr chatting ?Jn'

(1) Altavista (2) MAC " 3) f‘/licrbsoft Office (4) Google Talk
49. In which of the countries per capita use of water is max__ir{lum”?

(1) USA % () Europedn Union

3) China 4) India

©) ™

50. India’s contribution to total glob'tal carbon dioxide emissions is about :
(1 ~3% (2). ~6% 3) ~10% 4) ~15%

i,

51. Two earthquakes A dnd B appen to be of magnitude 5 and 6 respectively on Richter Scale.
The ratio of the energies released Eg/E, will be approximately :

1) ~8 | @) ~16 3) ~32 4) ~ 64
‘4

52. ¢ Which of the follgwing combinations represent renewable natural resources ?
(1) Fertile soil, fresh water and natural gas
2

(2) _Clean air, phosphates and biological diversity
(3) . Fishes, fertile soil and fresh water
(4)

\

L]

4 Oil, forestd and tides

53. In the recently launched Air Quality Index in India, which of the following pollutants is not

included ?

(1) Carbon monoxide (2) Fine particulate matter

(3) Ozone (4) Chlorofluorocarbons
oo || U HRRINCAAI 2
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43. g% & AR-UR WA & AU ATl Fl FHedg HET A TSHE FHIA A FHEA € 7

(1) g (2) SAETHA (3) ISR 4) fomrEmRm
44, frefafed § @ sF-9 frig gfe @& 72
1) T (2) EeRT (3) HiHeX (4) HI-aE
45. frefafed 9 § -9 TF T & &1 Ffariree wd @ 2 .
(1) foretarse (2) HETEe (3) fmTamEe 4) 3ETse ;
46. frfafEd § 9 & FRe® @q Ao & ¢ 7 f ,
(1) TR TR (2) SN A
(3) oA AffRE (4) oTIE TE A A HAR

47. ﬁmﬁr@aﬁﬁaﬁq—ﬁwa@%aﬂﬁmmﬁcmgﬁﬁﬁ)%?
(1) 10101 (2) 01101 (;.r’ 11001 (4) 11011
f |

48. <adld (Ifm) & fau HiA-91 3 §YR chklf%ﬁ'ﬂ%? |
(1) 3Tefawn 2) THTE - (3) TP SR (4) 0T <t

49. fwa v ¥ yfa =afed st s9m stfirsham €2 —
1) FTET () ?ﬁm (@) (4) W

- _
50. H A BTl SIS ITFA W A HT AL T AT &2
1) ~3% 2) 6% 3) ~10% @) ~15%

51. &1 Y9 A AR B RoRT Thel W hAW: 5 AR 6 IRAT & Q| IeHfSia Hoiel 1 ST T
(Eg/E,) feam gm? |
1 ~8 | 2) ' ~16 (B) ~32 (4) ~ 64

52 it § 9 FR-a1 FAeR T TR T T F 2
f(1) SR TE, Ol S SR wiewfa T
2) TS A1, Wiehed iR 59 fafasm
3) wsfaal, 3ok gar iR A 5@

(4) 99, = SR SR
53. ﬂ]’iﬁﬁ@ﬁﬁﬁ%ﬂﬁﬁ@mm@%ﬁ, frefafaa o @ wiEn ygus afmfed 7@ fwa
?
?;T% HE TS (2) Heu fafas (WféRgere) gard
(3) SN (4) AT
oo [IERHRTMIAENRTARD RN 2 P10
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54. The factors which are most important in determining the impact of anthropogenic activities
on environment are :

(1) Population, affluence per person, land available per person

(2) Population, affluence per person and the technology used for exploiting resources
(3) Atmospheric conditions, population and forest cover
(4) Population, forest cover and land available per person

55. The session of the parliament is summoned by :

(1) The President {
(2) The Prime Minister [ f
(3) The Speaker of the Lok Sabha r
(4) The Speaker of the Lok Sabha and the Chairman of the"Rajya Sabha ¢
g & 1 (
56. Civil Service Day is celebrated in India on : #
(1) 215t April (2) 24t April 343) 215 June 4) 7t July

¥ | I
| f
57. The South Asia University is situated in the|city of :\ f
(1) Colombo (2) Dhaka (3) Neéw Delhi (4) Kathmandu

58. The University Grants Commission XJaIg established with which of the following aims ?
(a) Promotion of research a-ltu;l:de'.velopment in higher education
(b) Identifying and sustaining institutions of potential learning
(c) Capacity building, of teachers
(d) Providing autonomy, to each and every higher educational institution in India
Select the correct answer ffom the codes given below :
(1) (), (b), (c) and (d) (2) (a), (b) and ()
(3) - (b), (c) andl (d) (4) (), (b) and (d)

a
59." The Gross Enrolrrf’ent Ratio (GER) in institutions of higher education in India at present (2015)
is about :

(1) _ 8 percent | (2) 12 percent (3) 19 percent (4) 23 percent
|

60. The total number of central universities in India in April 2015 was :
(1) Y08 (2) 14 3 27 (4) 43

r

-00o0-
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54. YAV W AR’ foRansti &1 gua fruifd w3 § S #Re waifus qgeu § 2
(1) SEeE, gid = ggadi, id safed qfH Suetsedl

(2) e, 9fd A gedan SR ST 1 SR HH o T STAN i S ATl Graifieht
(3) wHew feufqal, SEEn iR TS
(4) SEE, ISR SR ufd =afe ft Suersu

55. Og &1 97 freiferd § § foreeh gr01 o1ga foran i € 2 '
(1) T {
(2) EEEA { f
(3) ARG FH TR
(4) ARG 1 TR I TSHGHT 1 GHARA
56. Rd ¥ fafoe afdw feaw wHm@n s # Y | ’, |
1) 21 A H (2 4R [3) 21 <77 I (4) 7 TS I

57. awmqﬁﬁaﬁwmﬁ@mw“ﬁmﬁ% p
(1) e (2) TR 3) feeett ¢ (4) HSHTY

%
58. fawraawagmmwﬁﬁm@aﬁéﬁmm%%mmww
() STHEA % o IR IA\fgen S o o ferg
(b) WO AT oTel WEAHI 1 U89 Td 3¢ SHI ®9 § FA1T W & g
(c) Torershi 1 awan fwfop
(d) 9RG & 3= el &9 FF IAF N HI WETA ISH FH & g
W@ﬁm@%wwwﬁm:
(1) . (@), (0)A(Q ¥R (d) 2 (@), (b) IR ()
SB) (), (o) R 4)  (a), (b) 3R (d)

59. IHM (2015) § YRA Hi 3 freqor Teenshi § Weha AR ST (GER) TR 941 € 7
(1) . 313 (8) srf%lma (2) 9RE (12) 9fae@ (3) 9 (19) Wfaw (4) =9 (23) Ufowd

60. 3T 2015 § 9RA § $ H=9 favafaaed 9
1) Y08 2) 14 (B) 27 (4) 43

-00o0-
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